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Essay 2010 Qn 2 – Central Economic Problems 

Question 1

a)
Explain two ways in which an economy might move from a point within its production possibility curve (PPC) to a point on it. (10)

b)

Discuss the most effective economic policies to move the PPC outwards. 
(15)

Introduction


The production possibility curve shows the attainable and unattainable level production of economy can produce with the given level of resources and at a certain level of technology. It can also show the alternative combination of production that the economy can choose to produce. From the production curve, it can also demonstrate the existence of opportunity and the degree of opportunity cost.
Main Body

1) Explain the notion of production level within the PPC and on the PPC.

When the production level is within the PPC, the economy has not utilized fully all the resources it has to produce the level goods and services. The economy can still increase production of goods and services On the other hand, any production level on the PPC, the economy has fully utilized all the resources it has to produce the level of goods and services the economy has chosen. 

2)
What can the economy do to increase production from the level of production within the PPC to the level on the PPC?

With greater utilization of production through the increase in the level of AE, there will be an increase in the actual national income. In doing so, the government can conduct expansionary monetary or fiscal policy. 

(Briefly explain how MP and FP will work) Both will increase the AE and via the multiplier, it increases the national income. Consequently, there will be an increase in actual economic growth or rise in GDP, meaning that the production of goods and services will rise from the production level within the PPC to the level of production on the PPC.

Another way in raising the production level would be to increase the export demand by improving the price competitiveness and quality of the product. To do so, the economy needs to innovate and focus on improving the productivity so as to lower down the cost of production. One way to lower the cost of production is to keep the wage level from rising above the productivity level so that the unit cost production and thus keeping the price level of export goods low. Thus, this will help the economy to increase the actual production level.

3)
Evaluation 

However, in the course of increasing production capacity, the economy will increase production of more goods without the reduction of another good. This will ensure that the economy is certain of attaining pareto optimality which means that the increase in production capacity is not attained under trade-off condition.

Conclusion

The policies adopted to increase the actual production capacity must be implemented with the understanding of constraints such that the policies are able to achieve the desired result.

b)

Discuss the most effective economic policies to move the PPC outwards. 
(15)


The shift of the PPC means that the economy has increased its potential capacity of production. The economy has expanded the availability of resources thus enabling the economy to increase the production of goods and services. This is represented by an outward shift of the PPC. The PPC can shift outward when the economy has attained greater resources, improves its level of technology or attains a higher level of productivity. The must engage supply-side policies and investment policies to increase the potential capacity of production.

Main Body

 The supply-side policy introduced by the government to expand the production possibility curve must include the following aspects of development:

a) 
Research and Development – improve the technological development – will raise the production process and nature of goods and services – this will raise productivity and induce the growth of the potential production capacity of the economy.

b)
Better utilization of resources – engage in the planning and development of resources available for production – can be done through the development of land utilization scheme, resource development and manpower development


i)
Land utilization includes proper urban planning – separate the land usage under different industries and thus enables the saving of land use from building unnecessary facilities. This will enable the economy to provide more land for the producers and thus increase the production capacity especially in an economy with limited land.


ii)
Resource development can be achieved by better resource allocation through sourcing and conservation programme. By expanding into international trade, the economy can gather more resources to aid the development of the economy. This can only be done if the country has good sea-and-air port facilities and is within sea and air routes to make it easy to import resources and attain them at low cost.


iii)
Manpower development – developed through a proper and effective training and education programme to ensure that the economy is not deprived of the essential and suitable workers. The training and education programme must be tailored to suit the economic development of the country. In addition, it is necessary that the programme ensure that the workers will be productive and skillful to raise the production and thus expand the production capacity of the economy.

c)
Investment Policies


These policies serve to induce more fixed asset investment. This is done by the following approaches:

i)
Provision of efficient infrastructure and institutional support – if better infrastructures and institutions, it will be easy for the industries to operate in the economy and this can also improve their productivity. This will encourage the flow of more investment into the economy and thus raise production capacity.

ii)
Better tax policies to raise the rate of return for the investment – this will induce the investor to plough in more investment as profitability will be higher.

iii)
Political stability – this is an essential criterion for the growth of the economy. It will ensure that trading and investment activities will continue to flow and grow.

Conclusion

It is noted that the expansion of the production capacity will require careful and multi-dimensional areas of development. It is critical for the economy to constantly engage in such development so as to promote the potential growth of the economy, which is represented by the outward shift of the PPC. 
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